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ECONOMICS
PAPER - 111

: This papei" contains Seventy

the questions.

-

Reasoning/matching questions carrying

AR
qu-111

Five (75) multiple—choice/Assertion and
TWO (2) marks each. Attempt All

s o wadwodl dAldR (ou) oglscla usil, g vl wir Assi ettladll waddl

Which of the following decreases

, continuously as output increases ?
(A) Average Cost

(B) Total Fixed Cost

(C) Average Fixed Cost

(D) Marginal Cost

Change in price of a factor with
a fixed supply, like land, depends
on :

(A) Change in supply curve only
(B) Change in demand curve only
(C) Changes In both demand and
supply curves

(D) Change In clasticity of supply

curve
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3.  Arrow’s impossibility theorem does 8. AL usydr-) yNy ;o

ot impose the axiom of -

(A) ALy YA e o1l v
(A) non-imposition of social 0[1%—%[21‘-[@[
preferences ' i ~
(B) AM1lors LR

B -dictatorshi of social
(B) non-dictatorship qetd o~ v 29146

preferences
(©) g [Qseyin wadsy

(C) independence of irrelevant

D) <Y[3q oL WA el ]
alternatives o

LAY qe)
(D) interdependence of individual | '

U ¥URis Rigid eed) «ef)
preferences

- B R (DR TCTE| RS N LA H oy ]
4, Which one is not a case of non- _ “l S =

collusive oligopoly ? HAEUSAS Sl il wef] ?

(A) Cournot mode] (A) gl H{idq

(B) Stackelbe.rg’s model. . (B) wsaso] Wiz

(©) Bertrand model (©) sel~s Hidgy

(D) Barometric leadership model D) AR5 dlsslly idy
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A demand curve, which 1s parallel
to the horizontal axis, showing
quantity has the price elasticity

equal to :

(A) Zero

(B) Infinity

(C) .Less than one
(D) One

Quasi rent is the reward to a factor

of production which is :

(A) Economic rent in the short run
but the transfer earnings in the

long run

(B) Transfer earnings in the short

run

(C) Transfer earnings both in the

short and long run

(D) Economic rent both in short

and long run
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4

Shift in investment function oceurs 7. Hyslise Q@AY WA B, s 3o

because of : ) _
(A) AulHi 33812
(A) Change in wealth _ .
(B) [Mdeuydivi ges)
(B) Reduction in thrift

(©) A5l gladl 2y
(C) Expectation of rise in profit

(D) g1l gelsil widey
(D) Expectation of fall in profit
Ty

8. Which economist showed that

8 s ol saley 3 3S-llyq
Keynesian theory is the moving o :

Rsid aufslle, AHgAl [A=dng @ ?
equilibrium analysis ? :
(A) Tobin (A) elefl-

(B) Duesenberry (B)  Sy-ei]

(C) Samuelson (C) Ayicy«

(D) Hansen (D) 1A+
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9. Investment multiplier was first 9 ‘Lélﬂ&l'%l s AL Ha -

introduced by : - - (A) 39
(A) Keynes (B) s¢lI |
(B) Kahn | (C) et
(C) Hansen @) €lsa

5] iidka glal % 5L Bl
1C

10. U AlssL GRL, Sdua >l
10. When consumers attempt to save

sasiidl ag oAd saldl duct
more out of any given income, the

)

sacudl wd R Al Fodl odd

result is actual decrease in the N & .
C g Ml ASU A B AML ARAAML HeLSL

amount they succeed in saving. This 2 -
gy . L SIS

paradox is called :

= =

(A) G-t 51Ul

(A) Paradox of saving

=

(B) *ﬂﬂ&evﬂ P

P d ] t 3 Y - ™,
(B) Paradox of investment (C) DBiacdudidl siusl

(C) Paradox of thrift (D) aquLaLril L1USL

-

(D) Paradox of consumption PRIETE

Economics-111 e | - [P.1.0.]




H: According to quantity theory of UL uRAMBes Rigid oo,

money, an increase in money iy -
S YRASME qaiR1A 5129 goyal

supply is most likely to lead to
inflation if : adidl Y3l asudl &, A -

(A) The velocity of circulation of (A) »49doy 83 &

money decreases

(B) dastas-] qvyy 82 o
(B) The number of transactions

decreases (C) ~uslidl wio g2 &

(C) The demand for money N o )
| (D) A4RA 24 dqsRas] Huy,

declines

§AN &
(D) The velocity of circulation of

money and the number of 12, €319y sl Rigid Yoo,

transactions are constant N
UIFAL &R

12. According to the loanable funds

A) yslse
theory, the rate of interest is a ( b

function of : B) el AAe s3] Saoy

(A) - Investment o :
(C) ~BLiAL 9rey)

(B) Desire to hoard money

| D) GUIAL gy
(C) Quantity of money '

N

(D) All of the above 1 (Q8y g,
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14.

Which model specifically assumes
that workers don’t save and

entrepreneurs don’t consume ?
(A) Swan model

(B) "Kaldor model

(C) Solow model

(D) Robinson model

Joan Robinson’s main argument
was that the growth rate of an

economy depends upon :

(A) distribution of incomes
(B) growfch in technology

(C) growth In External Trade

(D) regional growth
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15. Endogenous growth models try to

explain :

(A) The source of technological
change from within the

_System

(B) Why there is instability in

economies
(C) Trade cyéles
(D) Change in income distribution

16, Theories of core-periphery and

transfer of surplus is associated

with :

(A) Immanuel Wallerstein
(B) Paul Samﬁelson

()] Milton Fﬁedman

(D) Adam Smith

Economics-IIT
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17. Early models of endogenous growth

are associated with :

(A) Harrod and Domar
(B) Solow and Swan

(C) .Mundell and Fleming

(D) Lucas arid Romer

- 18.

18. The term ‘Creative destruction’ is

associated with :

(A) Paul Samuelson
(B) Joseph Stiglitz

(C) Joseph Schumpeter
(D) Keynes

19. Justice in taxation is best ensured

by applying the principle of :
(A) Equal absolute sacrifice
(B) Equal proportional sacrifice
(C) Equal marginal sacrifice

(D) Equal sacrifice

Economics-I111 11
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20. Total expenditure of the central g9g

government as a ratio of GDP for

the year 2012-13 was -
(A) 14.9%

(B) 10.9%

(C) 14.3%

(D) 15%

21. Budgetary deficit does not take into

21.

account :

(A) Revenue deﬁcif;

(B) Capital budget deficit

(C) Balance of pPayments deficit

(D) Interest Payment on public

debt

Economics-IIT 12

(D) A8 al Yy o) Y59l

AN 2012-13, Wi 3vg AR 13-4 ECREDE]

GDP i 251l :

(A) 14.9%

(B) 10.9%

(C) 14.3%

D) 15%
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22.

23.

The long term fiscal policy
formulated during the seventh five

year plan lays emphasis on :

(A) Tackling poverty and

unemploymenﬁ

(B)

Reforming tax system

(&) Capital formation

(D) Industrial investment

Which one of the following was not

stipulated 1n FRBM Act, 2003 ?

(A) Elimination of revenue deficit

by the end of 2007-08

(B) Non-borrowing by the Union

Government from RBI

(&)

Elimination of primary deficit

by the end of 2008-09

(D) Fixing government guarantees

as a percentage of GDP

Economics-111
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Al ey ol s sl

aion suoull esivlla AR
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(Rl

B) sueudldl YAl
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(A) oM 2007-08 <UL ¥id Uedl waydl
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(B) w512 gkl RBI Al 4l
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©) arl 2008-09 UHLML, yalis
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24.

The concept of ‘Effective Revenue
Deficit’ has been used for the first

time in the Union Budget for :
(A) 2009-10
(B) 2010-11
(C) 2011-12
(D) 2008-09

Which of the following is not a

function of WTQ ?

(A) Bringing about stability in the
external value of the currency
of a country

(B) Providing forum for trade
negotiations

(C) To act as an administrator in

solving trade dispute

(D) Facilitator for expansion of

multilateral trade

Economics-IIT
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26.

27.

Which of the following is not a direct
outcome of the free international

trade ?

(A) Most efficient use of the

domestic  resources of
production

(B) Most efficient division of labour
leading to greater
specialisation

(C) Breaking  of domestic
monopolies

(D) Ensuring domestic political
stability

TWTO COVETS woveviinens 5 sesnesnens 2513 OO

under its programmes.
(A) inflation, currency, trade

(B) expansion of trade, global

peace, innovations

(C) trade in goods, services,

intellectual property rights

(D) bilateral trade, space sharing

agreements, global trade

Eco'nomics-III
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MU €9

©) s S digl wsdl

D) @l Axs Rl vl

214l

........... WA oennnn.. -l ANAL

528

(A) goUdl, AGBRL, AR

(B) clwird, [ards, dkas ailq,
~id A

(©) argil-l cuwR, Al olll&s
AR e

D) Guall <R, M A5 AL

aallel] ¥l sRURL, dfras
ALULR '

[P.T.O.]




28.

29.

OPEC (Organization of Petroleum
Exporting Countries) is an example

of :

(A) Multilateral trade

(B) Monopolistic competition
(C) Cartel

(D) Regional cooperation

Which of the following is not a
part of the WTO agreement on
agriculture ?

(I)  Domestic support
(II) Export Subsidies‘
(ITI) Market access |
(IV) Input subsidies
(A) (I) only

(B) (IV) only

(C) (IID and OV) only

D) (D) and (IV) only

Economics-I11
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29.

OPEC 3\ :

(A) olgually ctutué
(B) SAUYsd 3518
©) Au (s180)

D) uels uss1

1 Gelgrw 6,

AAnisf] sy, ‘WTO R RS )
5AU/AL As oy o] ?

M 2ul[s yuelo

(D [Ase w0

(D) oo U]yl

(IV) Geuwiert a2 oll]
(A) $5d (D)

(B) $s5¢4 (IV)

(C) $5d (IID 214 (IV)

D) $5d (ID 21 (IV)




30. In investment criteria shadow  30. yslisel qlronMl, ol BHdl

rices are the prices : . < & ;
P prt (A) vigalld Bl dudidz s

(A) In black market parallel to ol Bl

controlled prices " i
(B) Geulest vizlA el CICTREETD]

@' Pixegd hyehe governmient C uasiz gzl RelR) addl Budl

without a consideration of cost o N
(C) crgwdl 2irt Geuletel A8 AU

of production .
w9 Hed suladl (Budl

(C) Which reveal true scarcity
: D) ¥ BHADL drgil 2 Godlentil

value of goods and factor inputs
el wiw Al ot Budl

(D) At which goods and factors are
| gald .
not available

31, curddi -aisla ggaiml ¢
31. The goals of monetary policy in

(A) Glall wousl

India include :

(A) High employment (B) SdUl—¥is

(B) Inflation control (©) GlaAl Ci[‘\ﬁ
(C) High growth (D) BGuAL dHIA
(D) All of the above 4l 7Hde 9.

Economics-111 17 [P.T.O.]




32.

33.

The first private sector Mutual 32.

Fund company in India was :

- (A) Kothari Pioneer

(B) Bajaj Allianz
(C) DSP Black

(D) HDFC

If we deduct cash with banks fi'om 33.

currency in circulation, we arrive

at :

(A) Currency with public

(B) Bankers’ deposits with RBI

(C) Net RBI credit to the central

government

(D) RBI credit to the commercial

sector

Economics-I1T 18
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34.

35.

Among priority sector advances by
the public sector commerical banks,
which sector has the maximum

share during 2011-12 ?

(A) Agriculture

(B) Micro and small enterprise
(C) Weaker sections

(D) Exports

Which one of the following is not
a reason for increase in NPA of the

public sector banks ?

(A) Current macro-economic

situation of the country

Increased interest rates in the

(B)
past

©)

Higher economic growth

(D) Aggressive lending by the

banks in the past

Economics-111
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o33 Aotedl cllosd Aesl gLl 2idlHdL
gaiadl Asin prudal e, ay
9011-12 ¥i sut A=l sl Alell ag
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A s

(B) Y& 2t l-ll AL

©) s asl
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LAl 54, e é\mﬂ RN
NPA “i afdl asirl Hied 518
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36.

37.

The apex financial institution
responsible for the development of

small and micro-industries in India

(A) IDBI

(B) SIDBI

(C) NABARD

(D) None of the above

Which combination of the following

factors  is essential for
industrialisation ?

() Entrepreneur

(IT) Capital

(IIT) Abundance  of natural

resources
(IV) Infrastructure
(A) D, D and I
(B) (II), (III) and .(IV)
(C) (D, (IV) and ()

D) @, av) and II1)

Economics-II1
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38.

39.

Which of the following sectors has
the largest share in the employment

of workers in India ?

(A) Public Sector

(B) Private industrial Sector
(C) Organized Sector

(D) Unorganized Sector

Which of the following is not an

objective of National Wage Policy ?

(A) Toensurea minimum wage for

all workers

(B) To reduce wage differentials
between the organized and

unorganized sectors

(C) To promote vertical mobility of
labour by in-service skill

development programmes

(D) To eliminate middlemen from

providing employment

Economics-111
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©)

atzadi  slusiHl Lo AL,
LAial suy gl wWlell ay
sl 9 7

(A) AR &L

(@) vl ienlis &l

() Aoldd &t
D) R &t

Q3] sdl, gl dde Rl

-

2 og el ?

(A) dxi Alisisl s addd detri-l

oAl iudl

B) Aol ¢ 212001 Aol Azl

ddel dsladl selsdl
g Al Slaed s suisul
a2l alsidl Ged afaelledin

Gao U,

(D) AYOUR YL WSUHL a2t
§R 54l
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40. Who did the review of working of  40. Gellai-y AadA ([Qsin i [RunA)

the industries (Development aﬁd ' Q2L 1951 AL sidqia-] yaay 3\U§L.
Regulation) Act, 1951 ? - 53 edl ?

(A) Dr. G.S. Bhalla (A) Sl. .34, oleqy

(B) Dr. PR. Brahmananda B) sl. .2z, siay-ic

(C) Dr. S.K. Chakrabarti (©) Sl 2.3, Aysad]

(D) Dr. R.K. Hazari D) Sl. 2UR.3. ¢z

41. In a éompetitive market, a tax on 41. @,Q’l{x[ﬁ%&d OL"&[QHL alctvi—l»tLCté

wage income falls wholly on labour Yl $2 Ayl 2@y 4 3 8,

if : o :

(A) Labour supply is inelastic (A) émvft YRdsl HYeyairly e‘Lq

(B) Labour sﬁpply is elastic (B) 23l Yyrasl yeyuily iy

(C) Labour supply is highly elastic (©) 23l yRagl 4ol yeuuda Gy

(D) Demand for products has D) Geut w2l wiaefl yeuaydeqy
infinite elasticity Med iy

Economies-I11 22




42.

43.

Securities and Exchange Board of

India (SEBI) has to monitor :

(A) Companiés coming for new

public issues

(B) Regulation of stock exchanges

in India
(C) Regulation of insider trading
and outsider trading

(D) All the above functions

State regulation in environmental
management 1s preferred to the

market when :
(A) Resources are abundant
(B) Resources are land-based

(C) Environmental quality 1is

critical

(D) None of the above

Eéon_omics-ﬂl

42.

43.

SEBI 3t (flsdlély vies ey

oii$ s Slsul)

(A) 4l 78 el e wadl
syl

(B) olRdrl 28l el (i

(©) Sudsr 2901 21B2AULGSR

29lote, [FuMA
D) Gu-l dHiH sl
o wdsan s 9.

yylazella uelad He oiR 53l
219 gLzl AL ag Ried(l 2iua

2 B 5 FAUR
(A) AuEdl Ryd AL sld
(B) AALE-l og{l—2lalRcl Sld

©) wulazelly dsiaxl setsél Skl

Sid
D) GuuHidl s sl

[P.T.O.]




44. Total fertility rate is

45,

(A)

(B)

(C)

(D)

....................

The number of children a
woman is likely to bear in her

life time

Thé births to women divided by

the female population

The likelihood of having total

births in a given year

The number of births divided

by the total population

Poverty in India is commonly

estimated using data from :

(A)

(B)

(C)

D)

Reserve Bank of India

National sample surveys on

consumption expenditure

Economic census

State Domestic Product

Economics.-III
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45.

4 SUgUdl e ded :

(A)

(B)

(C)

(D)

Uldlril Qa5 £3%44 s 2l
Seell vini oUASN 9y 2y

dl AdRddl

2l 20har ol vy

54 WLzl 4 s

s 2qal arfdi g o]
AH[AddL

il se Avyie) éﬁ axdl 4

HIOULSLR

HIRdAHL Ao {3 vigloy

(A)

(B)

(C)

(D)

Aand Givs 2ls Shsyy

QUL W HI2AL Qe Ay

Adn
s ogeoperey

UBUAL 82012y Beylee

U ALSSIAAL GULoL 31N igioga

g €9,




46.

47.

The number of live births per 46.

1000 population in a year 18

called .vvvrirerirenronassseniniais ’

(A) The basic demographic

equation
(B) The crude birth rate
(C) The fertility rate

(D) The reproduction rate

According to the Economic Survey  47.

2012-13, the poverty has declined
between 2004-05 and 2009-10, by

percentage points

..........................

annually.

(A) 1.5

B) 2.0

(C) 2.5

D) 3.0

Economics-111 25

(B)

s adlui, e e ardlal @lad
og=ailel Avule
(A) Hooyd axdlfamus Aalszel

SIAL %TH B2

(C) sYgUdl &R

(D) Ui &R

58 9.
»ulls udee 2012-13 ywer, @l

2004-05 1 ad 2009-10 £,

aFlellAl £ L.o.ennn alls 2stall
Y-l E_Lauft ®

(A) 15

(B) 2.0

(C) 25

D) 3.0

[P.T.O.]




48. Which of the following is widely 48, <{l3i/3il] 54, ‘[euaust 0lys 49
regarded as being an important s Qs AL 28 ol Y

aspect of ‘Su.stainable social and A% us ] ABLAMHL U & ?

economic development’ ? - o
| (A duRIRL vl GlY R A ude

(A) High levels of consumption 3 2

expenditure and low levels of _ -
(B) Hid—U4l AMI-AdL
savings

(©) #id2—UGl w3l
(B) Inter—generat_ional equity :

_ | D) el 92l UL
(C) Inter-generational inequity

49. MAlels  dasui gz W,
(D) Intra-generational inequity

\ UK AL -
49. With growth in per capita income,

| A) U-2us13- drig
inequality tends to follow ... : )

(A) U-shaped pattern B) Gyl drsl IMis qe

(B) Upwardly linear pattern (€©) g (Gaal) U-2us12+ due

(C) Inverted U-shaped pattern - D) Al dzsl Ius azle

(D) Downwardly linear pattern 5 AgAAUG, 4Rl 41d .

Economies-III | 26




50. Joint forest management was first 50. wleHi2l qrinoia-l wgiid

started in : (A) 1983 Hi %%Qld,l‘[’l

_ _ (B) 1991 i HeuusuHl
(A) Gujarat in 1983 ,

() 1971 Hi uPaH GLILLULHL
(B) Madhya Pradesh in 1991
(D) 1954 Hl Yo oiHL
(C) West Bengal in 1971
08y edl.

(D) Punjab in 1954 _ :
51 ol auzladl dRueHl, UG USdr

51. An increasing share of the fellow ofle [Raddl usdz ogflwi-il Al

land other than current fellow land el [eaail

. ol auz ol ofladsulAs drle
in the land use pattern shows : (A) T : tdaulns dzle

B) wHld auziasdl daulis drle
(A) Unscientific land use pattern

() 2@l viidl s FgHls

(B) Scientific land use pattern .
gl GUaldL

(C) Use of fertilizers and pesticides ) ; TR
(D) ol GAloll Hiertl auzial

(D) Use of land for industries cald .
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92. Which Committee recommended 5o %[R{ Hl qren 4 2 Alv ]

’ iculture holdings ? N
ax on agrlc:u ure holdings HAMeL, s AMRRA 530 ed] ?

(A) Bhootlingam Committee _
| (A) ofdleoy yER

(B) Raj Committee
' B) qw AlMQ
(C) Wanchoo Committee

©) =y AR
(D) Raja Chelliah Committee '

D) A Adul wAR
53. Which of the following is not

responsible for low productivity in 53, '“[l?:ﬁl‘-l_'tﬁﬂ Y4, MIRdly s )

. Indian Agriculture ? Bewlesdl M2 oaioielz «i#ll ?

(A) Low productivity in Indian % N .
(A) Sldly Gelar &xui ]3]

Industrial Sector
Beule sdl

(B) Immense pressure of

(B) %l w2 axdlq Gly eougl

population on land

: C) oY 2sicliovil vioyq
(C) Lack of appropriate technology e

(D) Uneconomic size of holdings (D) 05/"[1'1&[2@[':1‘1 olatlls se
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54. After the independence in India the 54 qdatdl olle clRdul Wl dRus ¢
& ¥

crop pattern has changed in favour
(A) owduudl ust

of :

(A) Horticulture B) il

tB) Food gx;ain - () aulasy st
(C) Commercial crops D) Bl

(D) Oilseeds - . -
Al ddemi seald 9.

55. The relation between correlation
55 useluis 2 Hudeials a2 L
coefficient (r) and regression

coefficient (byx) can be expressed Lt
. Gx
as ° (A) byx = r.?
y
Gx
A by = P> ;
( ) ¥ G_}' | (B) byx = r._c.;l
o
(B) by = r.—~* p I8
o, b, = 2L
(C) Oy ¥ s,
o
(C) byx - rz'gy- _byx
X ' (D) r = 02
y
by
ro=—
(D) o2 ad euldl ws.
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56. Second derivative of a cost function ~ 56. UL SE[AAQUL Ao AN Gy

AR, v [fuq Rdly seud

when returns to economies of scale

. [Asa :
are constant, 1S ....occieereeinnn.. .
(A) 1
(A) 1
(B) Y~
(B) zero

(©) SIS 4oL 2y £

(C) tant k&
any constan D) wReld

(D) indeterminate . 3
o7. Consider tax yield equations : - 57. $3URA uls2o) -
@ T =tqg and - @ T =tg 24
- (@) T = tpg @) T = tpg
_ 5 b ML L, Ul wioel qs
Where demand curve is ¢ = ; 5 :
g == g,
D

Which one from the following gives . ' N
el 5y, sa el Y-l 52

| the tax on total revenue ?

w4 9 7
(A) Both (A 6
(B) Neither | - (B) cdanidl £ ]
(©) ) only | Q) 854 @)
(D) (@) only (D) &5 (i)
'\ Economics-II1 - 30




58.

59.

Primary inputs in the input-output
analysis go in micro-economics by

the name of :

(A) means of production

(B)_ factors of production

(C) relations of production

(D) forces of production

Linear programming solution would
not be unique if :

(A) Two requirement constrainﬁs

coincide

(B)

Two resource constraints

coincide

(C)

A resource constraint coincides

with a requirement constraint

D) A resource/requirement
coincides with the objective

function

Economics-111
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58.

59.

yenasl sdaml, wa-Goue

Redsadi, Gouleddl wals

AL

(A) Gewlg-sl utel
(B) Gellgwt-l 5151
(C) (lgel Aol
D) Geutget-tl wWRewl

Ay lueid 9.

U0 vl Wasll B3, )

A

"

(A) & w3RuUd-ouasl 7As3U Sl 89

(B) & aAlar ouasl 53y sld &

(€) s AU~ ouas, As o3(uld

spas WA 53U U O

(D) s Alad 3 ¥3Llad ouls,
dqasl @AY WA AAsIU Sld 8

[P.T.O.]




60.

61.

Karl Pearson correlation co-efficierit,

is appropriate for :

(A) Any relationship

(B) Linear relationship

(C) Non-linear relationship
(D) Curvilinear relationship

In a multivariate regression model,
if two independent variables are
correlated, it is known as the

problem of :

(A) Heteroscedasticity
(B) Multicollinearity
(C) Autocorrelation

(D) Error in variables

Ecbnomics—IH

60.

61.

sid IRl qeaviajy -
(A) SIS ysl doigy

(B) yul 2Aoig

(C) oflA-y3u 2oigy

D) asis12 %tO{E{

Hie Yoy ¢,

A s orgadly Mudsiy H“tééui 2}
[MRUa AR dedoidld $iy d)
d+ :

(A) [Quy [Qzy

B) oglag yxIvd

- (C) Rausely

D) A4 oy

™

Al Uee 58

e s i e R s o




62.

63.

Unit root processes are said to be

integrated of order :
A) 0
B) 1
© 2
D) 3

A distributed lag-model can be
converted into an autoregressive

model USING ..evvmmmmmmmreeeecennnn .
(A) Durbin’s methgd

(B) Theil’s method

(C) Lange’s method

D) Koyck’s method

Economics-111I
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62. wsH—Gid uldul :

63.

(A) 0

B) 1

(C) 2

D) 3

yoell seuvl As@d © M s3d .

as [Rald—lade Hisdd s

MU dRioiBd HSaHl
(A solld-l ugld
@) ada-dl ugld
©) arw-l ugld
D) susdl usld

4L Guaol s 3l as.

[P.T.O.]




64.

65.

When ratio of factor prices and ratio
of corresponding factor
productivities are equal, which of

the following will be the result ?
(A)  Producers will maximize profits

(B) Producer will be employing the
least cost combination of the

factors

(C) Total production will be
maximum

(D) Firm will be in equilibrium

Arrange proponents of theory

of . consumer’s behaviour

chronologically  in order

of advancement in theoretical

conCepts P

(1) Alfred Marshall
(2) Paul Samuelson
(3) .Lancaster

(4) Von

Morgenstern

Neumann and

WO e 6 @
® @ ® @ @

€ O @ @ @

D@ 3 @

Economics-III

64.

65.

FUR Beuledrl Alg-ilfl Budidl

AR dal AR Geulesctzii-d

Jalid HHd €y @, i

54 ulReuy ed ?

(A) GWES Wil ~ts1e HenlsRel
529

(B) Geulesi, Godleddl ALYl
Agdi—u AUyl Guylal
539

(€) & Gewlg Mo ol
D) Wl uMdeuni e

Al sl Acdeirtl Rigidl 29 53U

AMAAR, Agidls el waR

$HHL Qsql :

ey 2le3s Mgy

@ Wld Ayvicun

(3) éu%zaé

(4) did yHid > QIBETER
@ O @ @ @

B @ O @ @

© O @ @ @3)

O @ 3 @ @

*>—




67.

Harrod’s natural rate of growth

MBANB ..,usaipsisin s :

(D of the
any

Growth potential

economy without

interference

(I
growth that can be achieved in
long run

(III) Maximum rate at which
natural resources can be used
in the economy

(IT) only

(III) only

(C) (I) and (III) both
(D) (I), (I) and (III)

Which of the following is not
true with respect to spot market

(A)
(B)

liquidity ?
(A) The more willing buyers and

sellers there are, the more
liquid a market is

(B) The spot market for heavily
traded currencies such as
the Japanese’s Yen are very
liquid

(C) A currency’s liquidity affects
the case with which an
MNC can obtain or sell that

currency

(D) It called for fixed exchange
rate between currencies

Economics-111
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66.

67.

ds-l uislas alg ezl = -

5169 ugl edéu [l eddadl
qle @l

(I

(1D @ioll ououMl Mitd s asi ddl

yedd wsd qle €2

(ITD) el d i, wislas qAuadl %
HedH £3 aul s d &R

(A) 554 (II)

(B) &5d (11D

(C) 554 (ID) i (I1D) i

(D) (D), (I it (111)
iz ooty walgldidl Aee{Hl
il sy iy Al ?

(A) ¥H SA9L vlddl WledlRL -
ALl Aval 4y dH o Ay

yatgl

(B) oulasl A ¥l 4y dastds
Qlddl AARL HISHL RUie %R
agy, ualdl

(©) 25 A4l nadldl, »is og
gl Sul gl d adadl s2dl
A0l A—dx 3L uk 9, d+
BUT 53

D) a [ aas q2d [Rux

EMHY o2l dzda 53 6

[P.T.O;]




68.

69.

A General Agreement on Traiff
and Trade accord in 1993 called

for :

(A) Increased trade restrictions

outside of North America

(B) Lower trade restrictions

around the world

(C) Uniform environmental

‘standards around the world
(D) Uniform worker health laws

A high home inflation rate in other

countries would ...........cooeevereeiii the

home country’s current account

balance, other things equal. A high
growth in the home income level
relative to other countries would
....................... the home country’s

current account balance, other

things equal.
(zl‘-k) Increase, increase
(B) I.ncrease, decrease
(C) Decrease, decrease

(D) Decrease, increase

Economics-IIT
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68.

69.

(D)

(@A)

ad 1993 Al ‘o3¢ AN Viiv,

edls A-s 2877 (GATT) Hi :

(A) GrR 2RIl 611 ag R
oyl

(B) A4 Rsami 269l @ sigel

(©) AuA [Azqui A wulazelly

gl
AU AMS—2URY S18EIi]
Al d3e s wudl edl.

Ay YRl yulad 8 dl, ey
BAllMirL Gl 8¢ goudl-l £ 5129

As esudl wg viididl Rasyi

SRR daridi Glall gfe, d 2a-u

Alg vldidl RasHi

........

QgL 4, ag1] 49

-

(B) duIRl 49, 8elSl ud

-

(C) maIsl adl, ya1si u9

i

qalsi uql,

-

(D) TR T




70. Agriculture income tax is assigned ~ 70. %Y AL5LRAA s[B 2L C\{Ql'ﬂ
to the state governments by : Alugll
(A) The Finance Commiission . (A) ~usu A
(B) The National Development (B) Al [asin ulkve
Council (C) wida—31wd ulRMe
(C) The Inter-state Council (D) curdly sz
(D) The Constitution of India glal sl 2udl 9.

71. The High Yielding Variety (HYV) 71. HYV ofluzail :

seeds were developed by : (A) ML _'*:L"['i (_’t\LQC:\tTOL

(A) Prof. Norman Borlan; (B) Yl il

(B) Prof. Swaminathan (C) Ml. ¥eH

(C) Prof. Sundaram | D ul e

(D) Prof. Smith | gLl [AsAlaaidl iiel.
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72. Cropping pattern refers to : 72_' Yisdl dle ved :

(A) area under a particular crop at (A) s AHA WS ALSSH ULS

a given point of time " %
g6l [QrdlR

(B) ratio of area under one crop to
(B) 15 Uls el 2y Uls d80l-il

another crop
[QcLidL 2Letid?
(C) relative distribution of cropped

, (C) »ls Alssy Au1d [alag uist
area under different crops at a

et vt i time Ssu-l (iRl ula @Ade

(D) ratio of net sown area to total ‘ (D) juf] qdd Ssuil wHld w1

cropped area 56 ULs S0l [AdlR <l dRiidR

73. Gilt-edged market means : % -
i 73. ollee—uxs oz Hed :

(A) Bullion market N
(A) AHiHl—Uiel ooz

(B) Market of government
(B) uz sl (2t oz
securities '

| (C) olgsl Hied, oo
(C) Market of guns

(D) Market of pure metals (D) Y& Hidlg SuR
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74.

75.

In pursuance with the
recommendations of Narsimham
Committee, the RBI has framed new

guidelines :

(A) to govern entry of new private
sector banks to make the
sector

banking more

competitive

(B) to reduce the freedom given to
banks to rationalize their

existing branch network

(C) to

set up more foreign

exchange banks

(D) to lend. more easily for
industrial development
From which date, did the
Government of India introduce
scheme of Direct Benefit Transfer ?

(A) 1st June, 2012

(B) 1st April, 2013
(C) 1st July, 2012

(D) 1st January, 2013
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74. ARieH AR Hamel g

75.

(©)

(A) A-SloL &t ag ualysd oi-iaal
W2 Adl wirdfl &otdl Arsil

ydad [MuHd sal we

(B) idldl slel suvtidiql Hinve
d$A21d Glrldal WIS Giesin 2Ydl

lddl wdaAdl geisdl Hie
qy, [Qesll A4l slesi @yl Ml

(D) eliBls (A5 HI2 ag A0

(lalel sdL iR
RBI 3 Al wolelals asl 6.

MHLd AR 589 dFluddl Alul
Al sxdidel (DBl dio-l

HAHL 3ol & ?

A) uddl %+, 2012
(B) usdl [ha, 2013
(€) uddl xas, 2012

D) uedl wy2ul, 2013

[P.T.O.]




ROUGH WORK
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